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ARFMRETABICED A b— 7 EEE 5 BRIEEE R R

HEHE RS-284 - VIVA120G v BAMEA/EBME 5200 Keal/h
6.0 Kw
 BARBHA/ B 143 Keal/s

Av : R b-—78REREER
Av (IE) = 448 x 1218 = 545664 mm’
Av  (EE/HM@E) = 448 x 1218 = 545664 mm’

Ah : A BM—7KEREEHIE
Ah = (Y17  UTE=b - EEHT-FRKEITE) x (RKHEIE)
Ah = 452 x 452 = 204,304 mmZ

Ls : A b—7SaI 90K 2R

Ls (flm) = 24 x J Av(flE) = 1773 mm
Ls (IEm) = 24 X JAVCEE/EBE) = 1773 mm
Ls (HFm) = 159 X JAVQE®E/E M) = 1175 mm

Hs : A b—7 SR EEREM

1000000 )
Hs = 0.00106 1+ Ah = 978 mm
Ah + 80000

Ds : Ab—7Hu YRR
Ds = HEZZSRIIE,

| HHE. 15480kcal/s LI DRF—T




